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WELE 1,053 0 1,053 0 1,053
[8EA] 69 0 69 0 69
|[[&amEzAl 9 0 9 0 9
[BEEE] 346 0 346 0 346
FiE 1,603 of - — 1,603
FiHRER i 6,567 of - — 6,567
5 8,170 of - — 8,170
TARE 408, 835 3| - = 408, 838
N 141, 471 | - = 141,472
|[&amEzAl 17,278 of - = 17,278
[(BEZEE] 60,574 of - = 60, 574
BEI 9, 636 28 9,664 0 9,664
BREES 2,074 12 2,086 0 2,086
Bkt [FHREL 0 0 0 0 0
IR R 1 0 1 0 1
it 1,711 4] 11,751 ol 11,751
MAEEERR 13,783 of - = 13,783
BRERGEEIH (RALH) 5, 263 0 5, 262 1 5, 263
BERGEEIH GHEIN) 409 0 409 0 409
138, 828 5| — — 138, 833
SEANGERA & X A 129, 571 5| 129,575 1| 129,576
_ |miE 8, 493 of - — 8, 493
it [EEmEn 3,465 of - = 3, 465
KR 262 of - — 262
LR 2 of - — 2
R TR SRR 92 0 92 0 92
A= 50, 978 of - — 50,978
|ZEHEM 26,019 of - — 26,019
—i‘;ﬁm WK 6 0 - - 6
LR 0 of - — 0
HEE T ERHERETD) 4,037 0 4,037 0 4,037
#i P 2 B AT A 667 of - — 667
BHA FARH 0 of - — 0




& Ak =1
Z1N
&7 24 88
£EE (2.83)
1§ B [AFr] [HHaRET] | AREH | EHHHR #
[FHERE] 438 0 — — 438
S | (i) 3,251 21l - — 3,278
=] |[PiERE] 132 0 - - 132
&t 3, 821 27 - - 3,848
(R E] ?E’{E%ﬁ 0 0 0 0 0
TSN 426 426 0 426
o IEEE R 2 2 0 2
*%%?E HERE] 3,234 27 3, 261 0 3, 261
=] P [FEER 0 0 0 0
A 121 121 0 121
&t 3,783 27 3,810 0 3,810
FRRE 466 0 466 0 466
., |RERE 3,313 27 3,340 0 3,340
E}f’gﬁ iR 145 0 145 0 145
BEEE 37 0 37 0 37
&t 3, 961 27 3,988 0 3,988
FRRE 4,164 0 - - 4,164
sy [BERE 29, 307 514 - - 29, 821
Rk (FHrE 1,127 8 - - 1,135
8 mers 283 o - - 283
&t 34, 881 522 - - 35, 403
FRRE 40,173 0 - - 40,173
4 [ EFiEE 40,121 of - = 40,121
HiE |[RABE 10,012 0 - - 10, 012
BB emimm 608 o — - 608
&t 50, 793 0 - - 50, 793
ERES R 337,634 30 - - 337, 664
B E & i 801, 849 14,815] 816, 488 176] 816, 664
R 1,444, 536 14, 863 — — 1,459, 399
B A & B — — — — 288, 902
BREXR 12. 3%
* XHBE#E BREEFHEOSSHEE
18 B N [HIRET] | RS | AR # #
BIERE e 170, 956 1,353] 172,309 — 172, 309
* EFe#iit (BOHBE+EBEHE0SSHEE
18 B N [HIRET] | RS | AR # #
R 542, 585 7,048] 549,495 138] 549, 633
BIERE A 246,195 8,975| 255,136 34| 255,170
g 788, 780 16,023| 804, 631 172] 804, 803
B E & B 972, 805 16,168] 988, 797 176] 988,973
B OB & f 1,615, 492 16, 216 — — 1,631,708
IEEEfHFE 68. 3%




E 4, i — H
Z1N
S 24 88
£EE (3./3)
*  EBEHE GEE)
18 B [AFh] [HARET] | B | AR # %
FCABEE 408, 835 3 — — 408, 838
BHHETE 773 0 — — 713
BEEAE 408, 062 3 — — 408, 065
2. ESB#s (BOPE+HERSHHISSHEE
BRA
ES - BRE .
24 34 2% 34
4 881,310 99, 929 8,584 216 1 990, 040
E[3:377] 193 0 0 0 0 193
EERH  [5,612,111,0000 553, 864, 700] 41,618, 900 626, 400 4,400 6, 208, 225, 400




=N BEME
Z1N
S 2% 9A8
SEE
1. XBERE (1./3)
* EBERE (BOBHE)
15 =] [AFh] [HHERET] | AR | ERER % %
s | 172, 701 o 172,684 17| 172, 701
A 1,385 0 1,385 0 1,385
WIRRE o [EERE 21,724 of 21,724 of 21,724
A 24,332 26| 24,358 o 24358
it 220, 142 26] 220,151 17| 220,168
EEER 448, 784 8,155 456,806 133| 456,939
BERE A 296,830|  12,050] 308, 846 43| 308,889
5 745,623|  20,205] 765, 652 176] 765,828
ERRRE 0 0 - — 0
IEEER 482 0 482 0 482
T HRE A 8,823 98 8, 921 0 8, 921
5 9,305 98 9,403 0 9,403
WELE 1,144 0 1,144 0 1,144
[8EA] 68 0 68 0 68
|[[&amEzAl 6 0 6 0 6
[ZEEZH] 376 0 376 0 376
§E 2,212 of — — 2,212
FiHRER P 6,814 of — — 6,814
5 9,026 of — — 9,026
EARE 452,932 i - — 452, 936
[#EA] 161, 512 of - — 161,512
|[&amEzAl 19, 839 of - = 19, 839
[ZEEZH] 58, 947 of - — 58, 947
BET 10, 830 37 10,867 of 10,867
BREES 2,161 13 2,174 0 2,174
Bkt [FHREL 1 0 1 0 1
REREL 1 0 1 0 1
it 12,993 50 13,043 of 13,043
MAEE R 18, 544 of - — 18, 544
BRERREELY (B 7,615 0 7,614 1 7,615
BREEREEIY (M) 503 0 503 0 503
162, 426 1| - — 162, 427
B ARE AR AT 151, 521 1| 151,519 3| 151,522
_ = 10,141 of - — 10, 141
it [EEmEn 4,610 of - = 4,610
kSR 133 of - — 133
FiERELE 1 of - — 1
R TR SRR 186 0 186 0 186
RRIATE 61, 443 of - — 61,443
EE TG 30, 401 of - - 30, 401
—i‘;ﬁm WK 3 0 - - 3
RigRELE 0 of - - 0
HLE T ERHENELH) 5, 620 0 5, 620 0 5, 620
W T R AR 676 of - - 676
BHA AR 0 of - — 0




o) Ak =1
Z1N
S 24 98
£EGF (2.83)
1§ B [AFr] [HHaRET] | AREH | EHHHR #
(FRRE] 516 of - — 516
S | (i) 3,724 3] - — 3, 756
=] |[PiERE] 157 1 - - 158
it 4,397 33 - — 4,430
(R E] TE’{E%% 0 0 0 0 0
A 520 0 520 0 520
e e 2 120 122 0 122
1%%% HERE] 3,628 26 3, 654 0 3, 654
=] P [FEER 0 0 0 0 0
A 151 1 152 0 152
it 4, 301 147 4, 448 0 4,448
FHRBRE 551 0 551 0 551
., |RERE 3,779 32 3,810 1 3,811
E}f’gﬁ FERE 165 1 166 0 166
BisEE 44 0 44 0 44
it 4,539 33 4,571 1 4,572
FHRBRE 4,020 of - — 4,020
sy [BERE 32, 496 697 - — 33,193
(REH) | PRrRE 1,159 18 - — 1,177
8 mers 303 of - - 303
it 37,978 715 - — 38, 693
FHRBRE 54, 729 of - - 54,729
4 [E7inE 54, 655 of - — 54, 655
B |RAHRE 12,225 of - - 12,225
BB emimm 682 o - - 682
it 67, 636 of - - 67, 636
ERES R 398, 565 26 - - 398, 591
B E & i 980, 753 20,362 1,000, 921 194] 1,001,115
R 1,712, 534 20, 417 — — 1,732, 951
B oA B f — — — — 344, 697
BREER 11.2%
* XHBE#E BREEFHEOSSHEE
18 B [AFh] [HIRET] | RS | AR % &
BERE e 244,999 2,011] 247,010 — 247,010
* EH=HE (BOBRE+HEEFHESSHE
18 B [AFh] [HIRET] | RS | AR % &
IR 693, 783 10,166] 703,816 133] 703, 949
BEERE ik 296, 839 12,050 308, 846 43| 308, 889
E 990, 622 22,216 1,012, 662 176 1,012,838
B E & B 1,225, 752 22,373 1,247,931 194] 1,248,125
I E 1,957,533 22, 428 — — 1,979, 961
EERHE 69. 5%




E 4, i — H
Z1N
S 24 98
£EE (3./3)
*  EBEHE GEE)
18 B [AFh] [HARET] | B | AR # %
FCABEE 452,932 4 — — 452,936
BHHETE 811 0 — — 811
BEEAE 452 121 4 — — 452,125
2. ESB#s (BOPE+HERSHHISSHEE
BRA
ES - BRE .
24 34 2% 34
4 1,089, 217 137, 003 13, 021 290 2 1,239, 533
E[3:377] 196 0 0 0 0 196
EE%  |6,888, 788 500 780, 904, 700] 61,058, 500 841,000 8, 800 7,731, 601, 500




" BEHRE
Z1N
S 25108
SEE
1. XBEME (1./3)
* EBFERE (BOHH)
15 B [AFF ] [Hakat] | AR | Eo4R %
gy |LEE 150, 253 0| 150,241 12| 150,253
A 1,256 0 1,256 0 1,256
WIURE e [HERE 21,127 of 21,127 of 21,127
A 24, 964 34| 24,998 o 24998
&t 197, 600 34| 197,622 12| 197,634
R 444, 687 7,974| 452,535 126] 452, 661
BERE A 305,588|  12,157] 317,721 24| 317,745
i 750,275]  20,131] 770, 256 150 770, 406
PREFIRE 0 0 - — 0
e 412 3 415 0 415
FHizE A 8,753 99 8, 852 0 8, 852
i 9,165 102 9,267 0 9,267
WELE 1,284 0 1,284 0 1,284
(85 A] 81 0 81 0 81
|[[&amEzAl 7 0 7 0 7
[ESZH] 401 0 401 0 401
yE 2,203 of - — 2,203
FihinER i 6,947 of - — 6,947
i 9,150 of - — 9,150
TARE 483, 308 3] — —~ 483,311
[85A] 167, 894 of - —~ 167, 894
RSN 20, 742 of - —~ 20, 742
[ESZH] 67, 271 of - —~ 67, 271
BE 11,232 25| 11,257 of 11,257
BEEE 2,311 5 2,316 0 2,316
Bxf [FHREIL 1 0 1 0 i
BEREIL 3 0 3 0 3
it 13,547 30 13,577 of 13,577
mEELERR 20,000 of - —~ 20,000
BREEREELY (BELH) 6, 308 0 6, 205 13 6,308
BREEREELY GHEIY) 472 0 472 0 472
171,679 0] - -~ 171, 689
SR AN R 5L A 159, 876 10| 159,885 1| 159,886
_ |miE 11,123 of - -~ 11,123
ga [EEmad 4,700 of - = 4,700
LR 28 of - -~ 28
FRBELE 0 of - -~ 0
WHE Gk ERHERERM) 194 0 194 0 194
RRIAE 69, 098 of - -~ 69, 098
|ZEHEM 34, 208 of - — 34,208
—i‘;ﬁm RSB 0 0 — - 0
R BELIE 0 of - — 0
WL 0 F ERHERELH) 5, 650 0 5, 650 0 5, 650
BT R ST A 554 of - — 554
BHARARH 0 of - — 0




& Ak =1
Z1N
470 24108
£EE (2.83)
1§ B [AFr] [HHaRET] | AREH | EHHHR #
[FHRRE] 476 0 - — 476
S | (i) 3,789 “ - — 3,833
=] |[PiERE] 147 0 - - 147
&t 4,412 44 - — 4, 456
(R E] TE’{E%% 0 0 0 0 0
A 467 467 0 467
o IEEE R 2 2 0 2
1%%% HERE] 3, 761 37 3,798 0 3,798
=] P [FEER 0 0 0 0
A 135 135 0 135
&t 4, 365 37 4, 402 0 4, 402
FRRE 516 0 516 0 516
., |RERE 3,836 44 3,880 0 3, 880
E}f’gﬁ iR 163 0 163 0 163
BaLEE 35 0 35 0 35
&t 4,550 44 4,594 0 4,594
FRRE 4,100 1 - - 4,101
s RERE 34,519 743 - - 35, 262
Rk (FHrE 1,129 10 - - 1,139
8 mers 359 o - - 359
&t 40,107 754 - - 40, 861
FRRE 47,550 0 - - 47,550
14 |%?§L‘I:Eﬂ§ 47, 480 0 — - 47, 480
HiE |[RABE 12, 453 0 - - 12, 453
BB emimm 687 o — - 687
&t 60, 690 0 - - 60, 690
ERES R 389, 761 34 - - 389, 795
B E & 3 962, 874 20,311] 983,023 162] 983,185
R 1,742, 640 20, 354 - - 1,762, 994
B oA B8 3 — — — - 354,135
BREXR 11. 5%
* XHBE#E BREEFHEOSSHEE
18 B N [HIRET] | RS | AR # #
RiGRE e 223, 545 1,715] 225, 260 — 225, 260
* EFe#iit (BOHBE+EBEHE0SSHEE
18 B N [HIRET] | RS | AR # #
e 668, 232 9,689| 677,795 126] 677,921
BGRE A 305, 588 12,157 317,721 24| 317,745
E 973, 820 21,846] 995,516 150] 995, 666
B E & B 1,186, 419 22,026] 1,208, 283 162 1,208, 445
B A i 1,966, 185 22, 069 - — 1,988, 254
IEEEfHFE 68. 1%




E 4, i — H
Z1N
S 25108
£EE (3./3)
*  EBEHE GEE)
18 [AFh] [HARET] | B | AR # %
FCABEE 483, 308 3 — — 483, 311
BHHETE 729 0 — — 729
BEEAE 482,579 3 — — 482,582
2. ESB#s (BOPE+HERSHHISSHEE
BRA
ES - BRE .
24 34 2% 34
4 1,065, 537 117,114 19,013 305 1 1,201,970
E[3:377] 255 0 0 0 0 255
EERH  6,811,422,700| 676, 360, 800 88, 549, 500 884, 500 4,400 7,577, 221, 900




" BEHRE
Z1N
o 2F11A8
SEE
1. XBEME (1./3)
* EBFERE (BOHH)
15 B [AFF ] [Hakat] | AR | Eo4R %
gy |LEE 155, 066 0| 155,054 12| 155,066
A 1,361 0 1,352 9 1,361
WIURE e [HERE 18, 156 o] 18,156 o 18, 156
A 21, 251 28] 21,278 1| 21,279
&t 195, 834 28] 195,840 22| 195, 862
R 411,740 7,215] 418,790 165 418, 955
BERE A 285,516]  11,801] 297,290 21] 297,317
i 697,256  19,016] 716,080 192] 716,272
PREFIRE 0 0 - — 0
e 381 1 382 0 382
FHizE A 7,965 73 8,038 0 8,038
i 8, 346 74 8, 420 0 8, 420
WELE 1,159 0 1,159 0 1,159
(85 A] 72 0 72 0 72
|[[&amEzAl 6 0 6 0 6
[ESZH] 398 0 398 0 398
yE 2,224 of - — 2,224
FihinER i 5,998 of - — 5,998
i 8,222 of - — 8,222
TARE 433, 269 e —~ 433,273
[85A] 152, 785 of - —~ 152, 785
RSN 18, 492 of - —~ 18, 492
[ESZH] 54, 367 of - —~ 54, 367
BE 10, 291 37 10,328 o] 10,328
BEEE 2,087 5 2,002 0 2,002
Bxf [FHREIL 2 0 2 0 2
BEREIL 1 0 1 0 1
it 12,381 a2 12,423 of 12,423
mEELERR 17,437 of - —~ 17,437
BREEREELY (BELH) 6,198 0 6,198 0 6,198
BREEREELY GHEIY) 533 0 533 0 533
157, 543 2] - -~ 157, 565
SR AN R 5L A 147,168 22| 147,190 o 147,190
_ |miE 9,703 of - -~ 9,703
it [EEmEn 4,051 of - = 4,051
LR 5 of - -~ 5
FRBELE 2 of - -~ 2
WHE Gk ERHERERM) 189 0 189 0 189
RRIAE 59, 397 of - -~ 59, 397
|ZEHEM 29,524 of - — 29,524
—i‘;ﬁm RSB 2 0 — - 2
R BELIE 0 of - — 0
WL 0 F ERHERELH) 5, 858 0 5, 858 0 5, 858
BT R ST A 486 of - — 486
BHARARH 0 of - — 0




& e e
Z1N
S 2518
£EE (2.83)
b1 | B [AFr] [HERET] | ARG | |HER #
[FHRRE] 415 0 - — 415
,g‘%? R E) 3, 694 26 — — 3,720
=] |[PiERE] 128 1 - - 129
&t 4,237 27 - — 4,264
(R E] TE’{E%% 0 0 0 0 0
A 426 0 426 0 426
g IEEE R 1 0 1 0 1
1%%% RERE] e 3,622 23 3, 645 0 3, 645
=] P [FEER 0 0 0 0 0
A 110 1 111 0 111
&t 4,159 24 4,183 0 4,183
FRRE 459 0 459 0 459
., |RERE 3,748 26 3,774 0 3,774
E}f’gﬁ iR 136 1 137 0 137
BaLEE 56 0 56 0 56
&t 4,399 27 4,426 0 4,426
FRRE 3,498 2 - - 3,500
s RERE 32,273 695 - - 32, 968
(Fawk) | FHrE 987 8 - - 995
8 aaze 300 o - - 300
&t 37, 058 705 - - 37,763
FRRE 48,502 0 - - 48, 502
14 |%?§L‘I:Eﬂ§ 48, 433 0 — - 48, 433
HiE |[RABE 10, 819 0 - - 10, 819
W8 amimam 684 o — - 684
&t 60, 005 0 - - 60, 005
EHE SRR 363, 626 28 - - 363, 654
B E & 3 906, 994 19,145 925,925 214] 926,139
R 1,608, 320 19,213 - - 1,627,533
B oA B8 3 — — - - 329, 154
BREXR 11. 5%
* EHE=SHE (EEBEEESSHEE
18 B N [HIRET] | RS | AR # #
RiGRE e 229, 261 1,625 230, 886 — 230, 886
* EFe#iit (BOHBE+EBEHE0SSHEE
18 B N [HIRET] | RS | AR # #
e 641,001 8,840 649,676 165] 649, 841
BGRE EST 285,516 11,801 297,290 27| 297,317
E 926,517 20,641] 946, 966 192] 947,158
B E & B 1,136, 255 20,770] 1,156, 811 214 1,157,025
B A i 1,837, 581 20, 838 - — 1,858, 419
IEEEfHFE 68. 6%




E 4, i — H
Z1N
S 2518
£EE (3./3)
*  EBEHE GEE)
18 B [AFh] [HARET] | B | AR # %
FCABEE 433, 269 4 — — 433,273
BHHETE 850 0 — — 850
BEEAE 432,419 4 — — 432,423
2. ESB#s (BOPE+HERSHHISSHEE
BRA
ES - BRE .
24 34 2% 34
4 1,022, 461 115, 856 18, 808 258 3 1,157, 386
E[3:377] 225 0 1 0 0 226
EERH 6,468 212,200 674,217, 500] 82,990, 300 748, 200 13, 200 7,226, 181, 400




" BEME
Z1N
S 24128
SEs
1. XBERE (1./3)
* EBERE (BOBHE)
15 =] [AFh] [HHERET] | AR | ERER % %
gy |LEE 133,227 o| 133,207 20 133227
A 1,110 0 1,087 23 1,110
WIURE e [HERE 17,801 o 17,801 of 17,801
A 21,771 32 21,803 21,803
it 173,909 32[ 173,898 43] 173, 941
IREER 402, 335 6,926| 408, 980 281] 409, 261
BGRE A 263,289)  10,451] 273,725 15| 273,740
5 665 624|  17,377] 682, 705 296| 683,001
ERRRE 0 0 - — 0
IREER 333 1 334 0 334
FiHRE A 7,593 96 7,689 0 7,689
5 7,926 97 8,023 0 8,023
WELE 1,218 0 1,218 0 1,218
N 65 0 65 0 65
|[[&amEzAl 4 0 4 0 4
[BEEE] 436 0 436 0 436
FiE 1,970 of - — 1,970
FHRER i 6,103 of - — 6,103
5 8,073 of - — 8,073
EARHE 446, 452 of - = 446, 461
N 154,722 1| - = 154,723
|[&amEzAl 18,979 of - = 18,979
[(BEZEE] 58, 382 of - = 58, 382
BEI 10, 704 28] 10,732 of 10,732
BREES 2,178 7 2,185 0 2,185
Bxf |PRREE 1 0 1 0 1
IR R 1 0 1 0 1
&t 12, 884 35 12,919 of 12,919
MAEEERR 17,457 of - = 17, 457
BRERGEEIH (RALH) 6, 257 0 6, 257 0 6, 257
BERGEEIH GHEIN) 518 0 518 0 518
167, 456 14 - — 167, 470
SEANGERA & X A 155, 899 14| 155,911 2| 155,913
_ |miE 10, 741 of - — 10, 741
it [EEmEn 4,533 of - = 4,533
KR 9 of - — 9
LR 3 of - — 3
R TR SRR 212 0 212 0 212
A= 59, 046 of - — 59, 046
|ZEHEM 29, 885 of - — 29, 885
—i‘;ﬁm WK 0 0 - - 0
LR 1 of - — 1
HEE T ERHERETD) 4,893 0 4,893 0 4,893
#i P 2 B AT A 553 of - — 553
BHA FARH 0 of - — 0




& e e
Z1N
S 25128
£EE (2.83)
b1 | B [AFr] [HERET] | ARG | |HER #
[FHRRE] 378 0 - — 378
,g‘%? R E) 3,540 47 — — 3,587
=] |[PiERE] 121 2 - - 123
&t 4,039 49 - — 4,088
(R E] TE’{E%% 0 0 0 0 0
A 372 372 0 372
o IEEE R 2 2 0 2
1%%% RERE] e 3,588 46 3,634 0 3, 634
=] P [FEER 0 0 0 0
A 120 122 0 122
&t 4,082 48 4,130 0 4,130
FRRE 423 0 423 0 423
., |RERE 3, 605 47 3, 652 0 3, 652
E}f’gﬁ iR 138 2 140 0 140
BaLEE 47 0 47 0 47
&t 4,213 49 4,262 0 4,262
FRRE 3,688 1 - - 3, 689
s RERE 31,005 706 - - 31, 801
(Fawk) | FHrE 980 13 - - 993
8 aaze 353 o - - 363
&t 36,116 720 - - 36, 836
FRRE 42,476 0 - - 42,476
14 |%?§L‘I:Eﬂ§ 42,412 0 — - 42, 412
HiE |[RABE 11,093 0 - - 11,003
W8 amimam 706 o — - 706
&t 54,275 0 - - 54, 275
EHE SRR 345, 931 32 - - 345, 963
B E & 3 852, 890 17,555 870,106 339] 870,445
R 1,576, 480 17,613 - - 1,594, 093
B oA B8 3 — — - - 305, 560
BREXR 12.1%
* EHE=SHE (EEBEEESSHEE
18 B N [HIRET] | RS | AR # #
RiGRE e 212, 605 1,585] 214,190 — 214,190
* EFe#iit (BOHBE+EBEHE0SSHEE
18 B N [HIRET] | RS | AR # #
e 614, 940 8,511 623,170 281 623, 451
BGRE EST 263, 289 10,451 273,725 15| 273,740
E 878, 229 18,962| 896, 895 206| 897,191
B E & B 1,065, 495 19, 140] 1,084, 296 339 1,084,635
B A i 1,789, 085 19,198 - — 1,808, 283
IEEEfHFE 69. 5%




& Ak =1
Z1N
S 25%12A
£EE (3./3)
*  EBEHE GEE)
18 B [AFh] [HARET] | B | AR # %
FCABEE 446, 452 9 — — 446, 461
BHHETE 811 0 — — 811
BEEAE 445, 641 9 — — 445, 650
2. ESB#s (BOPE+HERSHHISSHEE
EES
xH - BRE .
24 34 2% 34
4 963, 322 102, 416 8,122 223 3 1,074, 086
E[3:377] 212 0 0 0 0 212
EERH 6,248 914,400 592,922 900] 40, 295, 200 646, 700 13, 200 6, 882, 792, 400




" BEME
Z1N
% 3% 18
SEs
1. XBERE (1./3)
* EBERE (BOBHE)
15 =] [AFh] [HHERET] | AR | ERER % %
gy |LEE 144, 955 o 144,934 21] 144,955
A 1,107 0 1,071 36 1,107
WIURE e [HERE 18, 371 o 18371 of 18,371
A 18, 506 19| 18,524 18,525
it 182, 939 19| 182,900 58] 182,958
IREER 402, 344 6,078] 408,224 198] 408, 422
BGRE A 283, 947 9,746| 293,670 23] 293,693
5 686, 291 15,824) 701,894 221 702,115
ERRRE 0 0 - — 0
IREER 368 0 368 0 368
FiHRE A 7,688 84 7,772 0 7,772
5 8, 056 84 8, 140 0 8, 140
WELE 1,025 0 1,025 0 1,025
N 57 0 57 0 57
|[[&amEzAl 6 0 6 0 6
[BEEE] 384 0 384 0 384
FiE 1,852 of - — 1,852
FHRER i 5,741 of - — 5, 741
5 7,503 of - — 7,593
EARHE 409,195 of - = 409, 195
N 140, 463 of - = 140, 463
|[&amEzAl 18,177 of - = 18,177
[(BEZEE] 52, 001 of - = 52, 001
BEI 10, 795 37 10,832 o| 10,832
BREES 2,155 5 2,159 1 2,160
Bxf |PRREE 1 0 1 0 1
IR R 1 0 1 0 1
&t 12,952 a2 12,993 1 12,994
MAEEERR 14,516 of - = 14,516
BRERGEEIH (RALH) 6, 035 0 6, 035 0 6, 035
BERGEEIH GHEIN) 377 0 377 0 377
157, 682 of - — 157, 682
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